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l92t 1000 lQnnbdrubp uhhBhurht rituD 2300 13800 6

19211000 qDnb urbp uhhrdhuht FCrU tlnn 2100 10500 5

19212000 qnnlnnrttn rnnhlnrnrrrd FCltz {btnn 1800 14400 8

19212000 qnnhlurlrn lnnhlinlnuld ACrU Jtlnn 9000 18000 2

r92i2000 qDnb ulbD EUl rulth FQUZ tur 4000 44000

t9212000 Snhl.rnuurd qnrfuu nn FCU2 rlhrnn 5000 2s000

19212000 ?hrd FCUz, dbulr) 1200 8400 'l

192t2500 bnhqur! /rnhu uV trcuz rlturn 600 9000

19212500 bnhourtr /uhuJu/ FQII2. trnn 450 5400 l2

19230000 FCUZ Ubrnn 1200 3600 3

19240000 clnnb r1lED ururtruu FCU2 dtu n 2200 24200

19240000 FQUZ t1rIn 2000 10000 5

19240000 qnrrEdurbp nnurur FCUZ trnn 9500 19000 2

19240000 9nn6 ur6p 4nuru FCU2 dhLnn 10000 20000 2

19240000 qnnE urEp 4rrurul FCUZ Uttnp 6500 6500

19240000 qnDbdubp nnuul FCU2 hulTl 9600 28800 3

19240000 Qnnbrhubp $tho FQl]Z riturn 2500 16250

r9240000 qnnbrlurbD $'thq FCUz bLn n 300 450 1.5

19240000 Qnnbrlurbp bthq FCU2, bun 3500 24500 7

19240000 qnn6!urtp !h mrr trcuz tlnn 4500 15750

19244000 Qnpbrlurbp durnurqnrt ph FCUZ r.lturn 3700 37000 l0

19240000 Llhr|rur htllu FQIIZ rltrnn 2000 20000 l0

19240000 Fnbqtlln FCU2 hlltn 5000 1s000 .l

19240000 Slml FCUZ Uh(nt 1200 24000 20

19240000 Fluq FCu2 trnn 1600 24000

19240000 Fruq FCTI2 ritrnE 400 8000 20

19283000 Otunrn FCU2 hurrn 480 t440 3

19283000 @humn FCU2 hultn 3000 3000 I

r9430000 Otr dt6 Eurlhh trcu2 hrnur 1000 20000 20

19430000 qmturunn rdtl FCUZ hurur 150 ls00 10

19430000 Otr tunulrntt FQUZ huln 1800 34200 t9

r9430000 Ott rntlttt FCU2 hurrn 1600 12800 8

19430000 Otr thuurEnnrur FCUZ hrutn 1500 16500

19435100 tdtr trurnh FCUz hurln 950 32300

19640000 'tlnrhtBhr htrurhtr tnnu ntull FCUZ dttn n 200 4000 20

r9640000 tl4lrh utuntl 20lur0ng FCUZ hrutn 600 '/2000 t20

19640000 UnFh ulLup! 60t'ur0nU FCUz hluur t]00 48000 60

r9640000 Snunurlr rnurnrhn turthutph FCUz huru 1200 t2000 10

19640000 Sttnt u-ttu FCUZ dL$n 300 6000 20

22110000 qhnp FCUZ hruur r0t 00 l0100

2_2211000 U uurohn "ctrnnlD" FCrU hurur 4000 48000 12

22810000 Qnuruthrtu[trurhh qhnp FCUZ hurul u00 rJ000 10

22813000 Qrluu nn qhnp FCUZ hulu 1200 2400 2

22813000 +Dudulnlnulhh qhnp FCU2 hurln 2000 4000 2

22811000 nlurhhuub qhnp FCU2 hurLn 600 4800

22lJ16300 l,?nuih pmnp FCIIZ hLuur 500 10000 20

22816100 Anttmn FCUl 2000 4000 2

2_2820000 4urn!urhtu hurh!tutn FCU2 huur zo 7 400 370

22820000 {uurl.nrubt FCUz hurul 5 50000 10000

22820000 {tlrrd.!r ulhtr FCUZ ht!ul l0 20000 2000

22852000 GnoururuhurL otrn FCUZ hrurn 100 5000

22852000 @nouru urhuru tndquldn FCII2 hurtn 300 6000 20

22851000 Unurqu[t urn FCU2, hurrn 90 4500 50

22852100 $uIl ecuz (nmfi 1500 15000 l0

24315610 ztqmt ulquluh FCU2 hurur 16200 16200 I

24440000 nlurnuinmLu0 lmp FCUZ hurul 2000 30000

244s2000 (lutLulobourrh[i DntouDh hl.]Luu FCU2 hulur 450 2't00 6

24452000 |anrournh hqum dhgurublth I Ln[qL1f rlLtf FCU2 hurr.n 750 1750 5

24454000
Bmhupbttb\urn rnttLtrtpfr qmjhl pup urgLnq l.t

ul urhU urhnrt
FCUt hurur 2500 7500 3

24452000 <ruuruqLq FCUZ hutu 420 12600 30

24911200 Orunrdhth unuhtd trcuz hrurn 550 550

2495t120 Uhrhtn{i FCUZ huur r000 10000 10

24911200 bdnnuhu.r 3.5t'o FCII2 hrutn 4000 20000 5

249r0000 FCU2 hlrlu 4500 54000 12

24910000 FCUZ hurur 4500 tE000 4

24910000 Lulhohlrl FQU2. hurLn 1200 36000 30

24910000 Unuhhi. FCII2 huln 2000 30000 15

24910000 Unuhhd LulhTlhtn FCU2 htuur 1500 30000 20

24910000 Unuhl.rd. Urlb-h trcu2 hurur 1000 15000 15





/

33711400 FCU2 hruu 600 4800

33711900 o--'--'l'nL-h +'l'--rlr FCUZ rhtnn 5000 150000 30

3371I200 UrDh urtnhln FCUZ hurur 100 2200 2

33711430 FCUZ hurrn 1020 2040 2

3371r600 ch'{qb Feu2 hulur 1250 6250 5

33',7 42200 FCUz hruur 540 540 I

33761000 gnrqurnultrh pnlnB rltb gt urtulhulBtpn{
o-'.-'--n'h --r n* rnnr rhl:nnrl

FCU2 hruul 950 190000 200

33761000 FCU2 hurrn 650 227500 350

33?63000 ,Lnnh nnnh rnnhrlttn FClU unLth 900 270000 300

34312000 FCUZ tmlutt!ut 20000 20000 l

14312000 qnrour Feu2 ! nrjtu t t! ur 10000 10000 I

34312000 '[urr hq ecuz t nJur rttut 5000 s000 I

34312000 I-rurnnLh FCUZ hurur 10500 42000 4

34312000 nnht"""nl,"',h,llrn,,,l'"nnnrfrrL bn urLLut FCUZ tmtrutthrn 5000 5000

34312000 aurndh\h UlDoLh h hhuhh uulrhu FCUZ hurur 750 1500 2

34312000 drundhrh rnrl FCUZ rhrnn 12000 60000 5

34312000 FCUZ rhrnn 6000 30000 5

34324000 Utuh{ hhtuuruh hul'lurn Feuz hurul 2500 30000 t2

34324000 Utrh LuhrlrDh FCUZ huln 1000 5000 5

34910000 UurrrurL Jtb FCUZ h1]1Ln 4400 4400

3't4527l0 fdttuhuh qhaurtr FCUZ hruu 200 6000 l0
37823800 Uul urlr1r1l}nutl} ulrurlrtp htuuurml'lmLhtnh FCU2 hulul 625 5000

37823800 FCUz hulur r 600 16000 t0

39191100 FCUZ hrnn 7500 30000 4

39144000 Feu2 hulur 2000 4000 2

39220000 Uh&hnnqhth llrLnunnttm ur tuh trcuz hurn 1200 6000 5

39220000 untfurt rut FCUZ hultn 8400 42000 5

39221110 FNUZ ! mJrl th! u 36000 180000 5

39224t00 Udht qnqul'hulund FCUZ hulln 2200 6600 3

39224200 Uutubh riurpnhtm lunquirurt hEUq[ FCUZ hurn ?500 22500 l
39224100 Uururbt urpnhr FCUZ hurut 2100 6300 3

39224330 +fln hulnurt dupnnr dhtnutnll dntnq FCUZ hutul 1000 33000 .l

3922't 120 Uuhn /dtb. ftnpn/ FCUZ rnnrtr 500 2000 4

39227120 UhDthurh uuhn N80. N90. Nl00 FCUZ umU 10000 6

39226300 \ndhn qmhurlnn FCiIz hulur 200 10000

39226300 Uhpttuurth !ndhn Feuz hurtn 600 3000 5

39225600 und FCUz huvr 300 13500 45

39225600 FCUz hruur 100 3000 l0
3922t100 CuDrullutfuI Feuz hurtn 700 4200 6

39221t00 .-mnrrnh rrhhnhn FeuZ hurrn 1.100 6s00

39223t00 qrlu.ll FCUZ huIur 320 9600 30

392242\0 L! urnrurUruh dndhh FQUz urntih 8400 25200 3

t9225100 FCUz hrurn 750 1500 2

39240000 trrnnnn ouin Winss 1 l5tI'.i-2.5.J11-22.23 hurur 750 3750 5

39240000 qumnn Durn winss 230 rt-3rfil-22 23 FCIIz huttn 1600 24000 l5

39240000 urnnnn DUrn I lsarho ll5 Jrlu-l),4 FCIIZ hulln 3000 9000 3

3924t200 Ullnuln Dtt Urnnttnr Feu2 huln 1400 1400

39298910 Snfuubtun FCUZ hrutn 17850 17850

39298300 FCU2 hurur 2500 15000 6

39st4200 Ghlh unFht FCU2 huiur 900 1800 2

39513200 Utrdtnnqh! Lntun rnnt$n{ FCUZ hurut 250 62500 250

39515000 Furnhhph rl runurqnttn FCUz hurur 2950 s900 2

39514300 UnEhr ahuu.tLuhnh hurdurn FCUZ hurrn 990 297000 300

39525000 9qhuurh btubtnq Atilunt/ FCUZ hurLn 800 8000 l0

39525800 Uuurth duDnhrnl 7nD FCUz huul 900 27000 30

39541I l0 'llunull FC{t2 hurvr 900 45000 50

39541110 qrunufu Eur Eurhhq FCUZ ttnn 50 22500 450

39561000 FCUZ hrnIt 264 1850 7

19561000 durfurrut FCUZ rJhurn 400 8

39711300 OtrLhL FCUZ hruu 3500 3500 1

J97l34l I (qhnlutD) CV-300/1 $ntLbnuh urnurlqrul]uh hnnmlurlt FCU2 hulur 16000 16000 I

39713431 <qtnhtnD CV46/2 $n2t!nr th runurdqulluL lunnn{utl FCI.I2 hulu 11000 r000 1

39713431 <<!tnlutn>> BV 5/hhnrtllm]h uulouhn FCU2 huu 750 120000 160

397tJ4ll mrn trcuz hrurn ?000 14000 2

39713500 UnnnLt FCTI2 hurtn 50000 50000 I

39811300 onn n"rnrh"nltnn Fn'nurrlhm Dunrdnha FCUZ huur 6000 90000 t5

39812100 dhtnul FCU2 2500 50000 20

39812100 <ultnruU durPnhlnL)nI FQIIZ hruul 570 1400 20

r983r200 UurI1rl1o FCU2 hruur 2000 20000 l0

39831200 UurnLhq hurur 4000 32000 8

3983 r600 {hdhthht odun oDlournurtrrut ntrph prurnth FCUZ hurtn 1900 285000 150



39831240 (hqhhhhu odum uthumurlt FCIIZ htuvr 250 25000 100

39831240
(lt$urtrmp oqrnurqnpbrlurLr d.tnplr mtrlrrlhpuurl rlf 2ng
I000rIr

FCII2 nutn 3200 32000 10

39831240
ft{hurt'o.p oqururq"pbrJuL atnPb mtbqhnuurl dbf ng

5000rfr
FCII2 hu\n 6000 120000 2{)

3S831240 n."l''^-' /'.t'-""'h,,,1'nn rhnah/ FCUZ hulur 260 13000 50

39831100 Lnu$tt uhulturlu utupthtm ntoh{bnuul hhnnttl
onr nn,nn,l1n,l,nhn,flrnnhrnr htnnrt

FCUZ hurur 1650 49s00 30

39831600 FCUZ hulrn 900 2'/000 30

39831700 tl:nnrl, ^r1 bh nhrrrLhnlrn FCU2 hurm 11000 99000 9

4213t000 c-'- l' --'-- .-h ,rnnn,l, nnfh,rnhinLr) FCU2 hurul 20000 40000 2

42131000 \-- l, 1in,nh onh lrnnnrl nnrontl hurln 20000 40000 2

42160000 th,tnh nrnrftn l,n rf,rrhnntl Feuz hurul 2',t 5000 275000

42r60000 Cneurtunnr run ul hqulfuuhnnrl FQUz huln 57000 5?000

42160000 qurDururh toulturnhrh ($ununlhU!1)ql!!4g!4g!]- FCUZ hurur 28000 28000

42160000 qnlx!ulnh!h !lllrbh unutuu$nnJurmnn
Irnnrl,nrhh{h htl,rnnnn

FCUZ hurvr 18000 18000

42160000 FCUZ hurur 27000 54000 2

42633000 d.-.hl'.1'-"ht' +."n1' FCrU hrutn 142000 142000

42'1t6120 LduroDh ItDtbur FCUZ hurn 250000 250000

42924300 otph bhh tpttrur FCUz huur 675000 675000

42968300 'Ihuruhhutn qnqurnrut'h pn ph bq{q[]4s!l&E!ll- FCUZ huru 11000 99000 9

42968000
Opurqpullnpnq ur{urndurn Ful2lurupull (o40 Idllrldtstnrt
nhuruLbuLn)

ACUZ hurur 40000 120000 3

44111200 FNTIZ ulunu 2300 13800

44111400 ll,hrq 'hn2tcnhq-
FCUZ hurn ti50 8500 r0

441I1400 lrlr' I't-r. ecu2 rhLrln 6950 6950

44111400 lQnruulrtn FCUZ rnnnh 2500 7500 3

44111400 IthnL q''.*? FCUz hurrn 3800 114000 30

44111800 l Currurlutuhn rhbrunurnurt urtr (l hunqLurh) FCUz hulul 180? 9035 5

441I1400 lLtn! h*r-hlr trcuz hulur '7200 14400 2

44111400 n.h'1, FCIIz hulur 4500 4500

44111400 lLhtL lr"ttnn* FCUZ hutn 800 3200 4

441t 1400 lLtnt firndh Feu2 huur 2000 40000 20

44111400 l9"r"tdn.r,rh* -5r
trcu2 nuln 5200 15600 3

44ll1400 Te"ul1rh"1, FCUZ hrutn 8000 40000

441t5810 TF*nt t'ptt tr-tuh> Feu2 hurur 50 1200

44114000 l-'lt"tn hu.rLn 15000 15000

aal ra250 

-Tlhfqurflnlr

FCUZ hurln 165 14E50 90

44141000 (t urhnn mhult FCU2 hun 23500 47000 2

44141000 FCu2 hurur 1200 1200

44167000 | tunrltnrln FCUZ hutn 1150 18400 l6

44r6:'':00--1 FCUZ huln 200 6600 33

44164310 TOnurnulr lunnnr]tult qhtrt urul urut tllirnuqbg FfTIz q.d 4500 67500 l5

44191000 '!.{aI /I70x275l FCUZ hurul l]200 13200

44191000 Ourprju lnFunl (pein€) FCUZ ttr)Jr 800 '72000 90

44191 100 TSuhnurlt FCTIZ 4nuld 346050 346050

44192000 .{DdhLhhn L $rhrqLtE FCUZ hu'rul 1500 30000 20

44192000 2nturbnrnI} FCU2 hurr 2500 25000 l0

44t92000 2nturonun trnnnh rlnur /P180, P220l FCUz Jturrr 600 1800 l
44t92000 qrnhlr FCII2 hurvl 2500 2500 I

44192000 arrrrtuurhunhnml rlhrnn l0rltrnourunq FCU2 hurn 2350 4',t00 2

44192000 'Iltuu h Uurhnrrph Feu2 hruur 150 1500 10

44192000 ntuuh FCUZ hrutn 200 3400 t7

44r92000 'InurL urnqtturltht Feu2 huru r200 1200 1

44212510 rhl,1n,nn,ft rhnlnht 1 RO r 5 FCU2 htuur 1500 15000 l0

44212225 FurnLhoh dnn FCU2 hurvr 7 400 14800 2

44115300 fdom onntiurtr hurdurn FCUZ hturn 600 12000 20

44315300 ecu2 Uq 6s50 13100 2

44316000 €unurtmuh hnnmltult FQUZ trnn 1850 '7 400 4

44316000 a,rlhLD FCUZ Uhun 4000 200000 50

443'16000 Uhuurqurltull uhlltnLbull FCU2 ftrnn _2000 50000 25

44316400 IrLrnjirn r ,lnnrnnlLh Feuz hun 500 32500 65

44333000 lJtulur ur Iurn FCUZ hrnn 400 76000 190

44424200 Fuu hrnurthh hururruth utnl Feuz huu 21000 210000 l0

44424200 FCIIZ hurrn 400 12000 30

44424200 FCUZ htutn 250 12500 50

44424200 Uurr /rhnpn/ FQUZ hruur 1000 20000 20

44424200 I-hr.umttur FCU2 b$n 1000 5000 5

44425200 'Ilnnt I urmt ur FCU2 hurrn .t0 2

44425500 UhrhLnLh dnn FCUz huur 1000 5000 5

44440000 LlnurLqpurtutt FCUZ hurtn 1800 3600 2

44511000 tr. 9nnhr (qurrruthhlt) FCUZ htuln '7 400 14800 2



44511000 Lr.qnoh) (urururLhUl FCU2 hurur 2200 8800 4

44sl1000 ehnDh nl)tl FCU2 hrurn 50000 50000

44s l 1000 I.npqhlr ,4:nnruunnq/ FCUZ tnnrrh 2500 10000 4

Ms12000 Fho ecu: huur 1000 2000 2

44512200 ZruDrdrurnrDD trcu2 hun 1000 2000 2

41'5t2200 q 
I nn Lu, nLnrd FCTI2 hruur r 000 1000

44512300 Umnd FCUZ hruu 1000 2000 2

44512000 q]]mJ FCII2 hurur 1600 1600

445t2910 Cunurthohn hnlurDh lnunEhrl rurfih FQII2 hurtn 571 19985 35

445129t0 Durnrufi 0hn ll)unphn fi ullmh FCUt hurln 600 15000 25

44512910 QurrhLntr (urltnn) FCU2 htuu '7 50 1500 2

44522400 UhqnLt r.hutuLh FCUZ hunn 900 9000 l0
4452tt00 @rulut FCUZ hurn 2500 5000 2

44521100 OurturL trcu2 hruur 6000 12000 2

44531600 tlutrh\, hh4lmu FCU2 hurur 7t) 14000 200

44531600 lhnroru Ml0. rutrtL FCUZ hurur 250 26250 105

44s11600 tnrmu M8. rflxl.rLll Ftul hurn 75 7500 100

44532200 SrurhortuULtn FCU2 huln 60 420 7

44ss0000 9uuulhurll FCU2 huru) 200 1000

4483 r 100 tluuulbqu FCUZ hurln 500 1000 2

4/,432100 Uqtrnnh FCUz lltuut 600 18000 30

44832000 I-nLbht FCUZ huln 700 r4000 20

44812200 F-tg FCUZ huru '/300 7300

44812210 3nquLtf\ FCUZ Ltrut) 6950 20n50 3

44820000 I-up utuqnrlL FCUZ hurLrI 9500 19000 2

44tt20000 L111D FCU2 hur'n 3200 6400 2

44832000 I.nLbht FCUz rhup 900 9000 15

44832000 orh$ FCU2 LbIDF 1800 14400 IJ

4/'921t00 Qhru u FCU2 l.to 3t6 15800 50

U2luuauhphtp 412500

79820000 Fnt\1tnf tnqurqpmplmh FCUz 4trulrJ 400 120000 300

79820000 Snf uurqnpb rnqujqpnrplnrh FCUZ 4Pud 1050 157500 '150

79820000 Upntrhdhtrnfr urquqpnrplnth FCU2 4fturI 5 40000 8000

79820000 U$|r2ru jlr urqtuqpmp3nth FCUz 4rtu 200 100000 s00

Uunulntpln tbV 35,t 73,899

4r 110000 tu tpr pmp <Uupmp 2mpl FCU2 hruln 1800 86400 48

45261910 9pnLgupurhfr Lnrullrpf {tpubnpnqnul FCU2 huu 200000 200000

45262321 gnnrcurFrxhh hurmur\b nulrlnnl FCTIZ hruu 190000 190000 I

452626't0
t-Ih6 ph f 2updur\urh huppu\f 2upfilnq (bu$nq)
phtpf uurluuu\htp u ptughtlm nl uuub4rupm
htnrnluh h urLtlrh uurunururnnrf

FCU2 hurr.n 2500 s0000 20

45343100
Utb pttllr tlurptuqmlltrttb L qnt$u[hptr
hurlluhp4thul|rh lndnqpnd unqnpnrd

FCUZ iI2 2000 240000 120

45422t00 'It\npLtpp qurhtlm hur rulr 4urFutq[hFb ullllulFuuurm FCUI prI 3335 120000

45442100 Uhb phdf 2u:pdur!urb h uh2upd huLnu\| LL1\nr J FCUZ huur 100000 100000 I

45443000
Orurnpnhlr dtu\rurnullh puqrlrplttpf tltputhnfnqnL ll
eutm FCU2 hruur 2s0000 250000 1

50112 t I I
qUPbI, r{rUFurqunFmuf pu$pf {hpuhnpnqmd h
trtntnL

FCU2 hurur 400000 400000 I

50118400 qUQbI. tr\Fnu{nnpmub 2urpdhlh qtprutrnpnqntti FCUZ hurur 100000 100000 I

50310000 l'IU-|r uquruup\nui ACU2 ruJlru 2500 30000 t2

50312000
hurlu:\urpq1url|rh uurpptpf qtuhquhm h
dtnuLnnnonr

FCUZ hruur 5000 75000 15

s0411200
Qruqullrh hu2{rjr uurmquyu$drutr \upqru{npm h
dhnuhnnnonr

Feu2 hruur 86850 86850 I

50411200 kpru\rirupf yLtpf {hptufrgpu{npnul FCUz hurtn 7000 140000 20

s0413200 lu\uhlqbhu;}lL hLu Lu\upqf uqu uupllnt FCU2 ru hu 6000 72000 t2

50712000 trtrlb tltluutrbqft ttb [trpurgb\ qhFutunpnqnr FCU2 ru bu 36000 432000 t2

50rJ50000 1t\npturnnplr utqruhLhplr npu\ru1 rlhpurtrnpqnrd FQUZ hulur 1s0000 300000 2

50850000 @ltlpuqluuLnL uLr1utu| qumluuuntd FCUt huln 25000 25000 I



r

51511300 SnDhhLhUIh u bn ulntlrJuh burnru ln r p]ntL ecuz hurul 720000 720000 I

FCIIZ 4purti 60000 60000 I
60120000 Surpulr burnurlmplmtu

60441000 Oqf purp tgnr ACtU hurrn s000 60000 t2

63512000 url fruruL4 Lu uupLl n r rI ,urn|'fu tTth ,I!4qIP:- 4pulti 38s0000 3850000 t

64110000 Onutnurlhfu EunutlnLplnlh FCUZ 4nu1rt 40000 40000 I

64210000 Itnurhu:4np4u\gttuh FCUz uIIlru t6'7170 2006000 t2

64216200 Shqtllurul{mplurh buDurlmPlmh FCUZ 4nur{ 70000 70000

65110000 Stur umruqurlundur0 FQUz unJfru I 1500 138000 l2

65210000 qtuq ecuz urdfu 997940 4989700 5

65210000
q*q,uuulut"url\tiurtl hur ulqurpqb uutuuurF\nttl tr

L urnoull n nnui
FCUZ u rlfru 227 50 t13769 5

65310000 tthUtnllntGhFqhu FCU2 ulrlbu 570000 6840000 t2

66110000 Furh\ur1|rh brunulmplmh FCUZ hurv) 1000 1000

66510000
U02urFd qnttpb urtqurhnquqlmPJnto /Punfn0h
rL0!+ltLupuLu IruunL0/

FCUZ hurur 300000 300000

66514100 UrluntlLphtlul| uquhnquqnn' pJn'tr FCUZ htuu 44000 44000

? 1631100 gtnmgf rutl \urpuurhtplr r]rnFd.urphlrufolmh FCUZ huln 78880 78880 l

71631100 qurpuurJuururL bluuruiup nLrtILLPfi urnnlqm{ FCU2 hruu 40000 40000 I

71611200 utDthulrh utlu. qLfunul FCU2 hlurn 21tt00 21800 I

72410000 f'0uLnEhmuJh0 grubg FQUZ rutlltu 25000 300000 12

't24t3000 qurtph uquuulpqn', FCUZ urdlu 8330 100000 12

'724t3000 qurtph u.t tuulllurutnnul FCUZ hurur 300000 300000 I

79341000 qnquq4tujb0 EulnurlmplmL FCUZ 4purd 150000 150000 I

80511000 nlun1qnul. rl tnurut urunururnmu FCUZ rlnturt 40000 40000 I

9051t000 Ururuhur0nLpJur0 qdurfr FQUZ urllu 10250 123000 12

90670000 'Itnurnho urohru FCUZ udhu 7000 84000 12

92312210 2u1hh\hLurq FNIIT rurllru 773500 9282000 l2

98310000 gh .dulpnn! FCUz rllur 300000 300000

9E393000
tu\bltrtlb urluurhruqntuuF /ur runulbtr L A.dtnurlbL/

ntnd.urth 6urnurtnrBtnrlt
FCUZ huu r r2500 112500

98393000 'Ibnuruurhhhnh runuluhurqmunh ntDdurllh FCU2 hulur 10000 r00000

FCUt huu 12000 12000
98390000 Sntgurtrur\trhpf qurulpggqlll-
99600000 !.h F\url urgn rg)ruquL bluluu q?o -,,sB!l 2000000 2000000

Ch4uulbhp ffi 1':,.&":::,l] 42903,738

'el


